Homework Il:

(use MS EXCEL)

- =

317 Table P3.17 gives Schoeider and Rabinovitz" data for the isomerization of CH,NC
o CH,CN,

(@) Try to fit the data with a simple first- or second-order rate law, How well does
it work?

(b) Try fitting the data 10 rate = ki [CHiNCPF /(1 + K:[CHyNC]). How well
does the equation fit? (Hint: You could plot [CHNC Jrate vs. 1/[CHNC).
However, 1 find it more accurate 10 simply program the rate equation in
a spreadsheet and use the solver function 1o hind k; and K; until the rate
equation fits all the data. )

(€) Are the differences statistically significant? Do an F

test on the ermor in the
natural logarithm of the rate.

PROBLEMS

Table P3.17  The rate of methyl isocyanide isomerization

Methylisocinide Methyhscocinide

IPressure Rate Pressure Rate
timolMiter) (molfliter) (mol/liter) (mol/liter)
10,520 9.8 18.1 0.0047
10,250 9.4 10.1 0.0019

O 8RO 9.1 8 (L0002
5,580 7 | 7.14 (L0010
4,020 3.5 5.1 (0.00062
1,850 3.5 2.2 0.00014
1610 3.3 1.39 0.000067
1,580 3 1.05 0,0006030
1,757 1.5 0.95 CLODON36
1,349 1.2 0.59 0.000014
1,050 (.85 .56 (0.00001 2
AR6 .39 0.41 0000007 3
W 0.23 {1.286 0.0000036
222 0.15 0.272 00000035
1(H) (.05 0.13 000000082
8.6 0.04 0.101 000000054
5.6 0.027 (0.0876 O.00000040
40,8 0.015 0.0725 0.00000029
208 0.010

Serce: Datacof Schoeider and Rabinovitz (1962).

The result (i.e. *.xIs files send as *.zip file to teacher via E/mail).



